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| EXTRA PRACTICE: Net Ionic Equations Practice #2  Name:

_—Complete the following net ion equations. Be sure to show ALL of your work for full credit. Balance ALL equations first.
£1o0 reaction occurs, you must still balance the equation, but write NR under net ionic equation. Be sure to also carry through your
charges and coefficients into the final net ionic equation. Hint: Determine if each compound is aqueous (ag) or not first.

1. ' AgNO3(qi) T+ ' KCI(AZ) =, ' AgCI( S) + ’ KNO; (qi)
Complete Ionic:
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2. _| MOy + L NeCOscag) » _| MgCOs (s, + 2 NaNO:(ay)

Complete Ionic:
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- strontium bromide (ag ) + potassium sulfate (ag ) — strontium sulfate ( g ) + potassium bromide(qt)

Complete lonic:
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4. manganese (II) chloride (ag) ammonium carbonate“‘v —> manganese (II) carbonate ( $ ) + ammonium chloride (ag)

Complete Ionic:
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5. chromium (III) nitra%e (ag *+ iron (II) sulfate (ag) — chromium (III) sulfate (¢ g 5" iron (II) nitrate (a ¢
Complete Ionic:
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Predict the products of the following reactions, and show the complete ionic, spectator ions, and net ionic
forms of the equation:

6. _| KiPOs(agq) + JmAl(Noa)sm@ o KNO3caey + 1 APy sy
Complete Tonic:
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Complete Ionic:
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Complete Ionic:
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Complete Ionic:
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